
Integrace racionálńıch funkćı

(i)

∫
5x+ 2

x2 + 6x+ 9
dx

(ii)

∫
x2 − 2

x2 + x− 2
dx

(iii)

∫
x+ 1

x2 + 2x+ 3
dx

(iv)

∫
3x

2x2 + x− 1
dx

(v)

∫
3e2x

e4x + e2x − 2
dx

(vi)

∫ 1

0

1

2x2 − 2x+ 1
dx

(vii)

∫
3x− 2

x4 − x3
dx

(viii)

∫ e

1

2 lnx

x(ln2 x− 4)
dx

(ix)

∫ 1

0

3x

2 + x− x2
dx

(x)

∫ (
x+ 1

x− 1

)2
1

x
dx

(xi)

∫
3x2

1− x3
dx

(xii)

∫ 0

−1

2x

(1− x)3
dx

Výsledky: (C ∈ R ńıže je integračńı konstanta)

(i) 5 ln |x+ 3|+ 13

x+ 3
+ C, x ∈ (−∞, 3), (3,+∞); (ii) x− 2

3
ln |x+ 2| − 1

3
ln |x− 1|+ C,

x ∈ (−∞,−2), (−2, 1), (1,+∞); (iii)
1

2
ln(x2 + 2x+ 3) + C, x ∈ R;

(iv)
1

2
ln |2x− 1|+ ln |x+ 1|+ C, x ∈ (−∞,−1), (−1, 1/2), (1/2,+∞); (v)

1

2 ln |e
2x−1|
e2x+2

+ C,

x ∈ (−∞, 0), (0,+∞); (vi)
π

2
; (vii) − 1

x2
+

1

x
+ ln

∣∣∣∣x− 1

x

∣∣∣∣+ C, x ∈ (−∞, 0), (0, 1), (1,+∞);

(viii) ln
3

4
; (ix) ln 2; (x)

4

1− x
+ ln |x|+ C, x ∈ (−∞, 0), (0, 1), (1,+∞);

(xi) − ln |1− x3|+ C, x ∈ (−∞, 1), (1,+∞); (xii) − 1

4


